MODEL EXAMINATION 2021
CQOW®MD al®ldH 2021

VHSE - First Year
NSQF Based Examination (Theory)

AUTO SERVICE TECHNICIAN
[For Continuous Evaluation & Grading (NSQF based) Scheme]

Time : 2 Hours 30 Minutes Total Score : 50 Cool-off Time : 20 minute

Instructions: (m@cguoeeBUB)

1.

Read the questions carefully before answering them.
OODOO af)P}@M@IM @)MIGaI0B}68BU3 (LOELIANBQJo AUOWEe)H:.

Maximum time allowed is 2 hours 50 minutes including cool off time.
OO0 af)P)@INGIMSS alEAIAW] MVAWO &)U360aATVAW 9UBe|6S

6eMR)26M1ee)@ 50 AlMIg @Ry6e.

The first 20 minutes is “cool off time”. The time is meant for reading, planning, selecting
and answering the questions carefully.
H)13630a0 MR GMIG1EO)N @YBLHE™ 20 AIMIS MVAOUDIIM TVAWAD

6. D VAo B2ldBL68BU3 (VDRLIANBQJo AUVWIEe)M@IM)o MatisSMBIQI GO
BEIINS)BH)AUIM)0 DB OEBBUT @RIVY(@EMo §21QAIIM)0
allmleomleeeem=@osm.

The questions are prepared on the basis of the Employability Skill and Vocational Skill.
aglocooenileilgl Mis:1@8, &AIEHHHUIME@E MUHITE agMIUW)eS @RSIAdMm

O®]2n@06M GaldB}68RU3 Q0L 1W]g)88O).

Attempt the questions according to the instructions.
B0600 @al0B QMO MIMWEOA|s MIBEEU6ERUE AOWaf) AMMYIRINSEE] DEmE0

)9} O) D>

Keep in mind the score and time while answering the questions.
OO0 af)P}M)EMUOUT MIBHHIB, MAWO oMU al@lNEMIBeeMo.

The maximum score for questions 1 to 40 will be 50.
1 2)®@3 40 AUOO B2103)68BU3EH aloadUW] AIElEe)& 50 MIEHIQ @YWIGIEs)o.

Calculations, figures and graphs etc. should be shown in the answer sheet itself.
HEMEO) ) SN HUD, all@EBBUB, (N0} af)MMIA! DO OCAIR|CIE®EN

9620 1o]e66Mmo.

Malayalam version of the questions is also provided.
Gal0BL6BB8)6S DRIWIS8 alGlRaHW)o M@de:IWlg)emns.




I. Answer any 4 questions from 1 to 8. (1score x 4=4)

1 2)O@3 8 AUOO aBOMEB:IRI0 4 CalIBYERUBHS DTMOO af)P)®)d:.

1)

2)

3)

4)

5)

6)

7)

8)

The three elements of communication are sender, channel and ...................
H0D[)6MIEHOUOY @Y CRISH:EERUY OAVMZAB, aldOM@B ...
Which of the following stakeholders makes policies for a green economy?

(B wessosmalwleal MR ®10)R0MIBE)MD @IOP 6EIS)EMIE]
EO)M@IT @YO6M

(a) Non-government organisations (b) Scientific community

(c) Government (d) Private sector

State whether the following statement is true or false.
Continuous thick lines represent visible lines and dash thick lines represent

hidden lines.

©269 @MIBIEOYIN (AITI@®IUM EIEWI HDEQD AN} H
®)SB2 WO HFIWBS AUOSHUE B{Udjo @RBIMM)o MSAISNSS HS1d)S1w
QUOBUB B{UOIRRIOOTD AUOHS)o @RYEM.

Automotive bolts and machine screws are known as ........ccceeeeeen.e. fasteners.

606306003°0T eenIoUdg)®HesW)o ORI MU(H)HOSW) o G@ROIWeQ]S)ANG)

.................................. aNOQICMPAV ag)Omoen)
00

................... indicates how fast the engine is turning in revolutions per minute

(a) Speedometer  (b) Tachometer (c¢) Odometer (d) all the above

af)BEMB  CUNOEDI@ B0s60 (RPM) au)allafleenand ............. @6

Ignition system converts current from 12 volts to .........ccccceueeeee.

(20 volts, 200 volts, 2000 volts, 20000 volts)

oiMlanyo qUlqyo 12 GBS HOMOIOM ............ GQIOUB50@ @OQYIN@I6.

The oo allows each of the driving wheels to rotate at
different speeds, when the car turns a corner.

80) QI0aOMo QI8 ®IElWIEMIUE 0600 eeWwailod) arlellomw)o
AUy@ 3@ MallWE8 GBI ......ooeeeeerenannee. NN 1He) M @O6M.

For the normal wear of tyres uniformly it is recommended that all wheels should
be shifted crosswise after every ..................... kms.



UROMEBOME Alelled 6eoealoerl EOWRIMo @REGIMG@IM BGOI
km a10a0mo qUERGl)) HFIWYEMIMB ageo aAllendg)o EBOmM AElmow
@OEQEN3@IEM).

II. Answer any 6 questions from 9 to 20. (2score x 6=12)

9 M@ 20 AUOB aBO®®B:IRIN0 6 G2lIB)EEBUBHES DTMOO af)PI®)b:.

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

What is grooming and why it is done?

(")2100) af)MO@B )M ? af)TDYOE:IENBOEM @M 62l ?
How to save a word document?

GRS EWIB116A8 EGITVAT H2IQYIMMNO f)EBROMWOEM?

What is a business idea?

ag)moem enflavlmnay ©ag)wlw?

What are mechanical fasteners?

ORHHIMIEH G aNOMVCMPMT ag)IMITD af) MO ?

What are the important components on a dashboard of a car?

630) a;oo’lan’(&) WOaH GenIoBdWleel (alWOMeQS Q1S 568300

)OO EOWI6EM ?

What are the causes of fuel leakages in an automobile?
80650000666NI03 aNyIIGd AI166 100N BHOVEMEBBOSHAMIOEOHWIEM ?
What is a clutch?

Raj af)MNOEB ag)TmOEM?

What are the important parts of water cooling system?

wWogd &Slot) MIQUABTIM (AlWOMOQ]g BINEEBUE af)OMDIOBOWIE)?
Write the different types of wheels?

alalw @oEmess Alen&8)eS Gald af)P)®)d:?

What are parking brakes?

)M ald@BoU) GENISIU?

Write the precautions which have to be taken while washing the engine.
80) AUROMODIOM af)MBENMB BHO}H)EGMIIUD A HTMOOES BYMBHO)OL)EUD
@O af)S)EHOENED)?

What are the advantages of stud over bolt?

@enI0UdSlOMEH B0 VAUIM)88 CaMH 1B )OO BEOQI6EM ?
3



III. Answer any 6 questions from 21 to 32. (3score x 6=18)

21 )@ 32 AUOO aBO®B:IRI0 6 CaldBYEBRUILE DAMOO af)P)®)d:.

21)

22)

23)

24)

25)

26)

27)

28)

29)

30)

What are the three steps to personal hygienic? Write any two things you will do
in each case.

CalPeM@d 662026 1M 88 3 OqYaImy ) MIO BEOWIEN ?
60600MMIOM®I0 &)0la] O6ME BHO0LEBBUY agf)P)@)d:?

What are the important forms of non-verbal communication? Write about any
three with examples?

(alWOMea]s GMo6Nd 6BNIGD 00 ) 611G H6 aHND OB 0B
af)OMMIOBOWI?  aBOOBIR0  2OMENOTMHN)0laf  OBIAOOEMIVACI®O
QilvoBRBe) & ?

What is time management and how can you manage your time?

©6So MIEMEOANF af)MNIT af)MBIEM? MIEBRSIHS MVAWHOT af)eBBEOMWIEN)
M16BBUB ©6OBS:000 621QYMO?

What is the importance of scale in making an engineering drawing?

80} afiMBEMIW0low) EWIVlotEs MeBH®1aNeMd (AIOWIMo ag)TIEN?
How are engineering materials classified?

ag)EBBOM®OEM af)BE]MI0low) 6aglcl@@MIem @Eo®Blafleleeyam®?
Which are the area that must be inspected for fuel leakage?

a0})l@d eflEBeE DMBOBIEMIOUE AAOMOEBIONE aBO®OOHH EONEBBSOEM
al@1eU0OW]EH6H N ?

What is a propeller shaft? What are the two joins in a propeller shaft?

O l0ajeld qﬂdOnﬁg’ af) MO )TN ? elaloaled 094001‘3’91@'3 OUBOS)M
6N R0V aBO®IOBOWIEN)?

What is the purpose of lubricating the gearbox?

WA ceniosaU enenilessngdlot) al@mM@IOnd 2EEU0 ORI ?

Write the steps to remove wheel from axle

@& MJlallam) a1 20Q)M® ag)BBOMIEN) af)M® (HACTTICE gY@} ?
Write any six functions of a good braking system.

B0} Me] GENIHloU) MUIQUETIM 6 (AIQIBEDMETBUY Af)Py@)d>.



31)

32)

What is the difference between direct and indirect measuring instruments. Give
examples of each?

WOL e0aU0)oU) adav(seangm)o, DMBUDOB 0 aU0)oU)
maiseandaie @milenss aly®0TVEEBRU3 ©BIANOMIVACI®O af)Py@)d:?

What are the advantages of using plastics in automobile industries?

B0GS0600666NITD 0BV (S1@d oyl Daleonlan)molend
N)EMEBBU af)ODIOBOWIEM)?

IV. Answer any 4 questions from 33 to 40. (4score x 4=16)

33 D)O@3 40 AUOO aFGODE]RI0 4 GalIBYERUIHN)SS DTMOO af)P)®)d:.

33)

34)

35)

36)

37)

38)

39)

Who is an Entrepreneur? What are different ways in which an entrepreneur can
think to solve problems?

MOPOREND )M AlOEMMOT @RYOIEM? B0) (AlUdMo QUMYEMUOUY TVoOORBTB
aBO®06Es Ay@IMI® lmlwlelom allawles)mo?

Construct and equilateral triangle with one of its side 6cm? Also write the steps
of construction?

6 omuadlalod oo 288 B0} DBLLIQOEE (SWIoWU ©)al1d:C1H6) .
@168 6060 HAVAITI0 af)9}O) B>

Write the difference between bolt and screw?

@6nI0UBg)0 MU0 @ENRNSS QUL® LOMVEBBRUB af)P)®)d:.

Write the difference steps for changing the lubricating oil from the vehicle?

80} UOME®IE8 MIMmyo enEnilesnglot) GOWIE8 @0Q)EMIOWB ©alQ)am
BOOL6BBUB aBODIOEE af)(M) (EHADHIT af)Py®)d:

With a simple sketch explain the difference between tube tyre and tubeless tyre.

syeni swojo syieni eelm) SWo)o @88 QAIMIOMVEERU B0) elfal)

g_ﬂL(mm’lem'g MaNIWEEMeS AlUoB180186)d:.

What are the steps to be followed while doing brake bleeding?
aentes Nflawlow) ©21QYMM 1O (H220W] ag)9}®) .
Write about overhauling of master cylinder?

20qud mulalenzolend 6oaIc0dglotlomEe)Gla] af)9}®)d:.



40) Identify the instrument shown in the figure? Identify and write the different parts
of the instrument?

2N @O®@ H06M2flolee)m MaUSeadlend Ealoyo, GR@IOMG Aly@IMV®
BOUNEBBBYO )9O H>.
1

Y AT

[ W UL R (LU B LRI LI LU L BUWILY L LR L o Il LU o R UL L UL LU L DL L L LU L LY L
02458 1 2 4 6 &8 2 2 4 6 8 3 2 4 6 8B 4 2 4 6 B 5 2 4 6 B 6
2 ] 4 5 5 i a 1

10 b g T 0.000n |

@

a9 10 11 12 13 14
Tl pnbn b ghoa ol b Do oot oo el 0o2=s

v

O 0% % o% o% o°
0.0 0’0 0.0 0‘0 0‘0 0.0



